finalm1314COC029sulllljj-Alfredo Alvarez httlps (ixlitemprod. peagsoncrggiwnﬂaplfvIlprmtfmath

07~17 ,
vy = a_f_:-.ﬁ"’?"\ J7-¢x —!/‘” 0{ ‘/';7/(4
g:‘ut::ent: g‘:ﬁ::‘:ﬁ::gﬂ:::ﬁ;’;f;qz 019 Assignment: finalm131 4COCOZquIIIIu
Liy) =5 (0) Cn Wl —5 = “@T) A3 o,
1. Find the following for the function f(x) = 4x2 +4x - 3. o) @7 = _ = @ro-3 L/
B) < ~3 " L{ /
(a) f(0) (b) f(2) (c)f(-2) (d) f(-x) f(T{_ZI(Z ) TYee) -3
(e) —f(x) (f) f(x + 3) (g) f(4x) (h) f(x +h) y Y(e) (C2) ~+ Y(z)~3 /
(a) (0) = "~ | (Simplify your answer.) ¢ /g*’;} é’ e 7= ‘{(//
(b) f(2) = ' (Simplify your answer.) ‘/(_Z) = Y()b )3T Y- i’)/(;) Telt) -2 =
N 4 P [
() f(-2)= | (Simplify your answer.) ‘/( (' I
e i )< S'/(—-,e) Q) ~3
(d) f(-x)= (Simplify your answer.) = Gt Y=t Yr (/( x) 3‘/ 6
(e) —f(x)='— | (Simplify your answer) (L f/:)”“'-'-' ‘& o K' > ‘ > t/;’
- A4z — . — (-/ )( "—Y)( 'f 7
() f(x +3)= | (Simplify your answer.) =l (¥ _H‘ x=3) = ;
(4“,’)) (((/)(o b) -P‘f()(-/’S/‘" }

(g) fdx)= ' (Simplify your answer.) //(Xr §)< Gt 3 N At )T vl e3) )

(h) f(x+h)= (Simplify your answer. /(,(;3) G (At f})(_(B)(#‘%g/?(/((/(:/) ,i).
A)= w09 Lo (a3 | Aders) =4 (x e 5) 0 704

5= U )(vc) 4 (vp-3 fLX+3 )= (A(L'(-é%/—t 26+ ¥/

Q{&,/): Gt fo—y FL3) = GyC t2ix Yy v

s Zlaiy) = “xth) " (k)3

4% - 4x-3 Giry) &
L) ‘//1—/4)(/(«/4” ¢ (et) c//x./u -7

—4x2—4x+3 /) )
, A xak) < Y o XA -3
4x° +28x + 45 /(M‘%) C//)/ L X h— h —r S’//ﬁ 4 j/

64x2+16x—3 (/{Xilé) (-/)( -—f a)(L]_r (([ t. _{ ((r{/ ’1'04 — 3

4x? +8hx +4h? + 4x +4h -3

Answers -

21

ID: 1.1.43

2. Find the domain of the function.

f(x) = 4/6x - 48
The domain is -. (Type your answer in interval notation.)
2 X4 §= 0
Answer: [8,00) OX - ¥ ET90 =2 OT¥T
6XZ 7
ID: 1.1.59 6>( - Z_;/

10f20- . —— —_— I
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3. For the given functions f and g, complete parts (a)-(h). For parts (a)-(d). also find the domain.

Al -+ 4]
(‘vf'i"r 1/ T fjg“"" $)- al y P e A
(a) Find (f+ g)(x). et T+ X , B J

LL/\ (—o2 oo/

f(x)=4x+7;g(x)=8x—-5

(f+g)(x) = (Simplify your answei";) /2)(

What is the domain of f+ g? Select the correct choice below and, if necessary, fill in the answer box to complete your
choice.

A. The domain is {x| >
(Use integers or fractions for any numbers in the expression. Use a comma to separate
answers as needed.) J %)
/ —‘( 4 ~ & A =
B. The domainis {x[ X is any real number}. (% /¢

(b) Find (f- g)(x). (@x-r)) — (I ," Iom G4 f
vx 21 = 3Kt 5= A Con o) )
f-ag)(x) = (Simplify your answer.)< Y T/ R ‘1.;/ i 7

What is the domain of f— g? Select the correct choice beIoW and, if necessary, fill in the answer box to complete your
choice.

A. The domain is {x| }.
(Use integers or fractions for any numbers in the expression. Use a comma to separate
answers as needed.)

/ T
B. The domainis {x| x is any real number}. /5’1 b /”ﬁ/) o { N
. (’c/,(/ ;}( g7 ) /; QUM
(c) Find (f+ g)(x). 32y L A 5 ¢ X : —y Y } /J
(FeQ)(x) = (Simplfy your answer) 3 ) L¢3 GX—31 N\ 2

What is the domain of f+ g? Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

A. The domain is {x }
(Use integers or fractions for any numbers in the expression. Use a comma to separate
answers as needed.) /{»{} . A {5)( s
B. The domain is {x| X is any real number}. / “ E :
A N =y ST
d) Fi i ~ , '-‘-'.’_5’/ _
(d) Find g (). ( {/ )// / . § 1 ._._'_‘-:. rf"f)( 5
Y Py
f ! zé/ < 18 ey .- S
— ()= (Simplify your answer.) ™~-_ / _ ;‘
g)0T— \/( /

r . 7 = 7. ¥
o '8 5 Fl k'!" f (
A. The domain is {x - ) (’L 7 )i = /¢
(Use integers or fractions for any numbers in the expressmn Use a comma to separate
answers as needed.) :'f }/{m// () +1
B. The domain is {x| x is any real number}. o i
I (¢ ')‘//’L,f:f_{.y’r L

(e) Find (f + g)(4). N

~ /J " ;)K‘f_” §’0

(f+g)(4)= (Type an integer or a si plaf ied fraction.)

https://xlitemprod.pearsoncmg.com/api/v1/print/math
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(' > 4 94T TN [

O Fnd (=02 (,5 5 )(2) = —7(V)FIL

f-a)2)= (Type an mt/ger or a simplified fraction)
(=)= - F+jr
(9) Find (f+ 9)(3). L =
(*‘//({);Lr ) 3 3¢ 47— 3 ;
(f-9)(3)= ' (Type an integer or a simplified fraction.) / //\// ({ > ;

6//,(3)~ 32(3) 5@/3/ :
L 3)3)= 32 (3)(3) - fﬁcfs’“«--
IN3)= QT (O >

] (
— (= (Type an integer or a simplified fraction.) -
(g —_— -e,,p/ 3¢)  >F

] f
(h) Find [ ) J 1).

Answers 12x + 2

B. The domain is {x| x is any real number}. /d!) z L{f:i.l
—4x+12 Y D

B. The domain is {xl x is any real number}. J/) B ‘Q’:U:f /
32x% + 36x - 35 ( 4. (l ) )=
B. The domain is {x| x is any real number}. / ‘ ¢+ "_l
4x+7 (9/(/) . i—%
8x-5 s & =

A. The domain is {Xl i} ( ({}) (() ~ ét ‘\:\F/j,

(Use integers or fractions for any numbers in the“’e‘xprassion. Use a.comma td’éebarate answers as heeded.)

50

ID: 1.1.67 ——e

f(x + h) = f(x)
h

(@”jj L__c_f(,_(,__,_é)_,_r_?j ~(x 4.,;{{(,_1 1)

4,
Find the difference quotient of f; that is, find ., h#0, for the following function. Be sure to simpilify.

) =x> —4x+7.

_ q 1,
f(x+hk)|-f(x)=. )/" (s ) = ijyé +7 — Xy~ 7
—f>(/\—'r‘)(‘\—+4 —t(_il{__:gfé—-f-_']")(l—('v’)("’]___

Answer: 2x+h 4

o ,.wﬂt : 2
iD: 1_1_33___.,-3(, :"L (X !1 —t A _l — _k(_,/_,_, cf'A_ -+ / e )(? TY—7 -
. _y/ A— sy - — —
- £ Aj « = & ZfX_/} i /Q i_ﬁ- Y4 _ >
A “h " p E ( 2x-r/p 9

30f20

/ﬁ?,ﬂ.. 9,3:58 PM
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5. Using the given graph of the function f, find the following.

(a) the intercepts, if any

(b) its domain and range

(c) the intervals on which it is increasing, decreasing, or constant
(d) whether it is even, odd, or neither

(a) What are the intercepts?

_.: oy ('("}-_.‘j (0/[J
= | ¢ -
(Simplify your answer. Type an ordered pair, Use a comma to separate answers as needed.)

-3 ; E 3 —
(b) Thedomaints| [ -5 3. c‘?““/ s L, ¥ )4,4,(
(Type your answer in interval notation.) _ )
- e s
Thekénge' is ) : = K /f“ /i o T £ (“) f
(Type your answer in interval notation.)

(c) On which interval(s) is the graph increasing? Select the correct choice below and fill in any answer boxes within your
choice.

oo Lt o\ ) L2 3]

A. The graphis ilﬁi:\rea{{i_ng on
(Type your answer in interval notation. Use a comma to separate answers as needed.)
B. The graph is not increasing on any interval.

On which interval(s) is the graph decreasing? Select the correct choice below and fill in any answer boxes within your
choice.

) __( ,.’r_;. : ”
® R i & AT
) A. The graph is decreasing on {_ gs ™ / = ( / )
(Type your answer in interval notation. Use a comma'/to separate answers as needed.)
B. The graph is not decreasing on any interval.

On which interval(s) is the graph constant? Select the correct choice below and fill in any answer boxes within your choice.

A. The graph is constant on .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

(»-B. ~Fhe graphiis ot constant on any interval.

(d) The functionis (1)

&) odd.
even.
r@ither odd noreven, -
\'*-H_

7/29/2019, 3:58 PM
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Answers (- 1,0),(2,0),(0,1)
[-3.3]
[0,3]

A. The graph is increasing on | [-1,0],[2,3]
(Type your answer in interval notation. Use a comma to separate answers as needed.)

A. The graph is decreasing on |[- 3, -1],[0,2] .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not constant on any interval.

(1) neither odd nor even.

ID: 1.3.25

50f20 7/29/2019, 3:58 PM
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6. The function fis defined as follows.

1+x ifx<0
f(x) =
X2  ifx20

(a) Find the domain of the function.

(b) Locate any intercepts.

(c) Graph the function.

(d) Based on the graph, find the range.

.

(a) The domain of the function fis / «— <" /]
(Type your answer in interval rlo_tagion.) ;
(b) Locate any intercepts. Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
: Q)
A. The intercept(s) is/are ( / ) J ) p ( Vit /

(Type an ordered pair. Use a comma to s"eparate answers as needed.)
B. There are no intercepts.

(c) Choose the correct graph of f(x) below.

1 A
\\,
A. B "\I
\
f‘l
/
7
)//
» )
(Type your answer in interval notation.) ’
Answers (- 00,00)
A. The intercept(s) is/are | (-1,0),(0,0) .
(Type an ordered pair. Use a comma to separate answers as needed.)
Las ‘\'/(d\.v’
i = — [ L | , b
{ Use  H7«p*)
Y ek = /L .,
F (.'*({.\-_/-"f"
D. v)/Vw ey S S
(= 00,00) ety

Fhugz o A

ID: 1.4.37 _ L)‘ = {r £ _—3_(\\ ) ) Y4k Cirely

2wy et )
. ;
ﬁL:,/l’% (xﬁéo) Clite G, 7

/

60T20 7/29/2019, 3:58 PM_
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7 of 20

(a) Graph f(x) = |x + 4| - 2 using transformations.

(b) Find the area of the region bounded by f and the x-axis
that lies below the x-axis.

(a) Graph f(x).

(Use the graphing tool provided to graph the function.)

(b) The area of the region bounded by f and the x-axis that
lies below the x-axis is ' square units.
(Simplify your answer.)

Answers

https://xlitemprod.pearsoncmg.com/api/v1/print/math
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Z—)[ )( o ( ) /_’I'.){;Jl). ‘}; /;,' )
8. Find the zeros of the quadratic function I;:\ factormg What are the x-intercepts of the graph of the func:tmr(?' y» k“ ( |\ )

(2x—+t)( Y=1] =2 Bash 4 AN

#

2 i) =9 O K
Select the correct choice below and fill iy the answer box to complete your choice.
(Use a comma to separate answers as needed. Type an integer or a simplified fraction.)

(x)=2x -%=1

A. The zeros and the x-intercepts are the same. They are
B The zeros and the x-intercepts are different. The zeros are , the x-intercepts
" are . x—{—( = ( C)/( )(_. ,—/( < (
=1 0 /L

Jf
Answer: A. The zeros and the x-intercepts are the same. They are - 1 C){
2L - =4
- | 2
- i
ID: 2319 o 7 /;': /L

/ ) ,/'
—— A e S

9. Find the zeros of the quadratic function using tha square root method What are the x-mtercepts of the graph of the

function? =
2 (X /
=(x-4)"-36 ——
a(x) = (x—4) U (Y s | A+ (/; o

Select the correct choice below and fill in the answer box to complete your choice.
(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to

separate answers as needed.) /\/"L{; = 6
S A The zeros and the x-intercepts are different. The zeros are , the x-intercepts /(
A, _ =
- are . - —& T 6
X—¢=~6 OHA y
B. The zeros and the x-intercepts are the same. They are . 0"”" / t/_f, 4 < - (/,
) =y e i ; S (& y
K-~y c “6Ty ..
Answer: B. The zeros and the x-intercepts are the same. They are 10,-2 . C;. ‘4 j/(;‘ /0
~ (/_‘ = L N ( e
ID: 2.3.29 ( —

e - ——————————— ——— - —

10. Find the real zeros, if any, of the quadratlc functipn using the\uadratlc formulaﬁ What are the x-intercepts, if any, ofthe

graph of the function? {, 19*‘ _,‘,“ )(c:'“(/u/"t;/{-/..' "'Y(/)(ZZ) "/(]'f [/‘/{,‘;,77

f(x) = X2 + 10x + 22 PN 2 (i) [
az(, b¥o, C=L1 /ot 1
Select the correct cHoice below and, if necessary, fill in the answer box to complete your choice. X~ = 7
(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to
separate answers as needed.) ){ = =0 fk/ ,L/ 5 3 }
A. The zeros and the x-intercepts are the same. They are . o .
B The zeros and the x-intercepts are different. The zeros are , the x-intercepts A ) 4 [‘/ f; [,;
" are ) ,{ . - P)
. . . —if -t Z /2
C. There is no real zero solution and no x-intercept. )( e B Va2
- I

o~ -/ J
Answer: A. The zeros and the x-intercepts are the same. They are =5+ 4/3,=5- «/— )( "Z’ T f?

ID: 2.3.39 ( | X’ - —¢ ”H/-};/

- S .-

8 of 20 7/29/2019, 3:58 PM
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X
Find the zeros, if any, of the quadratic funct:en% sing the! quadratlc formula. What are the x-intercepts, if any, of the graph
N %
efthetunclon? o = 8y “tiix +/ | y==( 1) t {19 S (0)(1) . —12 2/ 3¢
7
fo) =82 + 142 &=, L=IL, C= (¥) 6

T
Select the correct choice below and, if necessary, fill in the answer box to complete your choice. - —
(Simplify your answer, including any radicals. Use integers or fractions for any humbers in the expression. L‘f;e a comma to

separate answers as heeded.) — = U ir’/;/ A 7 ~
A. The zeros and the x-intercepts are the same. They are . o _/ 6—-‘
~ The zeros and the x-intercepts are different. The zeros are , the x-intercepts o
O B. = =L yfe V7
are . - /¢
C. There is no real zero solution and no x-intercept. z / 2+ 7
LW
T/
-3+4/7 -3-47
Answer: A. The zeros and the x-intercepts are the same, They are 2 ’ 2 | C(\{ 5t ' v / )
== (e )
‘+ \f , Y S

"‘\

ID: 2.3.47

12. Find the real zeros of the quadratic function usmg any ethod you w;sh What are the x- |ntercepts if any, of the graph of

9 of20

the function? )( (/7 T ' e ————
- z t<¢ o (=)W Y e
l? 7 T S S Y = __( k' (/“f_f AEI=I)
G(x) 8x° - 14x - 15 AN 2 (7 )
8 e ool e oS e
Select the ctchmce bélow and fill in the answer box to complete your choice. ,/ - A L s o
PeeY X= 1Y EV /56+57>
: /G
() A. The zeros and the x-intercepts are the same. They are
; i o /WA
~B The zeros and the x-intercepts are different. The zeros are : the’(;-intercepté "Tle7
B are . /6
(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to
separate answers as needed.) )("_ /\4 ~+2(

/i

- /‘f"-/b
{~ =

ID: 2.3.81
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13.
a. Graph the following function using transformations.

b. Find the real zeros of the function.
c¢. Determine the x-intercepts on the graph of the function.

2
gx)=(x-5)" -4
a. Graph the function using transformations.

b. What are the zeros of the function?

(Simplify your answer. Use a comma to separate answers
as needed.)

c. What are the x-intercepts?

(Simplify your answer. Use a comma to separate answers

https://xlitemprod.pearsoncmg.com/api/v1/print/math

wjk:-‘

X

as needed.)
Answers
)‘L/‘ﬂf b ey
10 8 b 4 -2
7.3
7.3
ID: 2.3.89
—

10 of 20

r'—"'—l'—j—.-'——r'—v—]'—r'—'r—t'—j—b

2 4 5 g 10

L
4
P

7/29/2019, 3158 PM
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14,
Graph the function f(x) = - X2+ 8x by starting with the graph 20 _‘"‘y
ofy= x> and using transformations (shifting,
stretching/compressing, and/or reflecting). 164
1'.:‘—.-

Select all the transformations needed to graph the given ]
function using y = X 67_
[] A. Reflect the graph about the x-axis. i L
[] B. Shift the graph down 16 units. 20 16 12 B 4 ] 4 8 12 16 20
[] C. Stretch the graph vertically by a factor of “"';

4. &
(] D. Compress the graph vertically by a

factor of 16. -12+
[] E. Reflect the graph about the y-axis. -16«:
[ ] F. Shift the graph up 16 units. 20"

[] G. Shift the graph to the right 4 units.
[] H. Shift the graph to the left 4 units.

Use the graphing tool to graph the function.

Answers A. Reflect the graph about the x-axis., F. Shift the graph up 16 units., G. Shift the graph to the right 4 units.

e
ool

(Lf;(b)

u A

" { e "j"
N ,Old_) ,{;Xn Ar
20 16 12 B -4 516 20
A af
A /\v\(»‘f"'i"ﬂ
R
o /¢ }Jl \
VY 3 r .2
/( (/C~ ( (_/b«( Ao
lv'\./ Ao/ L\M
_ _ b=l L
ID: 2.4.29-Setup & Solve ( M - ——-/Z A \/7L i )( { 0 )
X— o < J1- Q
\/1 g, = 12
7{ /"‘-IL\% < /O
11 0f20 712912019, 3:58 PM

—
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e
15. Deterrine, without graphing whether the given quadratic ﬂmcﬂon has {maxlmum value or a minimum value and then find

the value.
M x{ Ve ey = /- 22 / () ty
fx)= - 2x° + 4x =5 k(‘ X { * )) &= /< : )))
/

d=-t, b=v ‘ ) =z )
Does the quadf'atsc fun‘cﬂén fhave a rmnsmum value or a maximum value? — ( — fr {_ /3
() The function f has a minimum value. _ = hes ¥
The function f has a maximum value. - ( ‘ F( ' )
L/
What is this minimum or maximum value? (’ Z (” =5 {r’ (' )
| |
(Simplify your answer.) = ( l) —7 ( {)(/) — M 2V )
Answers The function f has a maximum value. = ( , =1 =% =Y J 0‘(; ¢ y?j \
=
-3 2 ( I 3 ) aQ ,x’) /’{ 4
-y Q Lo
ID: 2.4.59 "--\

— e r=:

e ————————— — —_— e

16. Use the rational zeros theorem to find all the reaI zeros of the polynomlal function. Use the zeros to éct"ér fzver tl{e real
numbers. ifd
/]_ /)( -t >(—_]/\ ""d/\/"f"/l *“—"“’_

_ 4,3 2 - firs 4
f)=x"+2x" -7x" - 8x+12 W Sy §7"1 {/\A (e (‘(uu’ 5

What are the real zeros? Select the correct choice below and, if necessary, fill in the answer box to complete your answer.

i
(,:) A. X= 7'/‘7 L/ —

(Simplify your answer. Type an exact answer; Using radicals as needed. Use integers or
fractions for any rational numbers |r)_g|,e' xpression, Use a comma to separate answers as

.. needed.) ‘ \ / ’4 —7)
(1 B. There are no real zeros. S / 3
Use the real zeros to factor f. : / 3 '/Y
f(x) =
(Simplify your answer. Type your answer in factored for)m./Type an exact answer, using radicals as needed. Use integers
or fractions for any rational numbers in the expression. " : ; D r7 e
? p_ [ 3 =y —( L ‘j'l/ic T 'f-}j{d‘
27 | . J= )
— ) /1.7_ L l___ N\ — [
Answers A, x=| =3,1,2,-2 G . Ay

(Simplify your answer. Type an exact answer, using radlcals a needed Use integers or fractions for any
rational numbers in the expression. Use a comma to eparatganswers as needed.)

(e+3)(x = 1)(x+2)(x—2) (___' \/ /(

ID: 3.2.53 @{: jz) (K/ })
. )(’1‘ { =S O YF 3 ==

el oot 4 xlaz- 3o
& o Syl

e ] v " |
CE A L X5

12 ot'ﬂ)\ — — 7/29/2019, 3:38 PM
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17. Find the Vertical, (horizontal, an oblique asymptotes, if any, for the following rational function.
veriical, fionzal

19x B rp) o
(\ Rx)= x+14 /: ")f"f : \v"'.'., £ €
o %A—_ e Ir
Select the correct choice below and fill in any answer boxes within your choice. Y/ s
AT = <
A. The vertical asymptote(s) is/are x = . 3
. , .0 3
(Use a comma to separate answers as needed.) X-( [ - f L v L / Vi
B. There is no vertical asymptote. e e
. : o : )( = /9 N
Select the correct choice below and fill in any answer boxes within your choice. ( o

\""—._

N Y LTI
CxX=-+ _

() A. The horizontal asymptote(s) is/are y = L fg [ C - (
(Use a comma to separate answers as needed.) (/

(0 B. There is no horizontal asymptote.

Select the correct choice below and fill in any answer boxes within your choice.

(O A. The oblique asymptote(s) is/are y =
(Use a comma to separate answers as needed.)
() B. There is no oblique asymptote.

Answers A. The vertical asymptote(s) is/are x = -14 .(Use a comma to separate answers as needed.)
A. The horizontal asymptote(s) is/are y = 19 .(Use a comma to separate answers as needed.)

B. There is no oblique asymptote.

f I
/i < A/ N
ID:3.4.45 '~ 0 ¥ 7/ VU ¢/ i /'/f A

1 = r —f— (A& —/- 577 (f'if

1

. PR & ¢ : |
/H"‘ o . e 77 " S e Se g
s / > A A //'\H/l/// 2 ﬁt
r e Z

/94 . | 7U ¢ A /Z(// L i

|
-‘ ' . [ I .
;(‘ > ‘:}G I f o P d ///’(/// 1 J,,,l,;/( AR WW L/-L(

(O ____d,..f—""'/

1T /5

13 of 20 ﬁ__.-/ 7/29/2019, 3:58 PM
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18. Find the vemcalL honznntal and oblique asymptotes if any, for the given rational function.

32 -Tx-6 _(3_Y ) (X=2/ . 2 XL Y ® (X) < .E_)(—-/"(_ \
Q=——"—" = ({y.-f\) (x¥—y) e 1 {\( . )

5x" = 14x-3 S __/ '

A

e

Select the correct choice below and fill in any answer boxes within your choice.

| i’ Xt | =2
A. The vertical asymptote(s) is/are x = . ") AA {

(Use a comma to separate answers as needed. Use integers or fractions for any numbers in

the expression.) g/){ » / . ( S (
() B. There is no vertical asymptote. ‘

Select the correct choice below and fill in any answer boxes within your choice. \/ =
) A, The horizontal asymptote(s) is/are y = S )< ~ ~—|'-
(Use a comma to separate answers as needed. Use |ntegers or fractions for any numbers m% S
the expression.)
. V' — . / Ty
() B. There is no horizontal asymptote. & )( - e )
= A :
Select the correct choice below and fill in any answer boxes within your choice. = — L/‘
— : =
() A. The oblique asymptote(s) is/are y = . Ve l NS ‘ W= ] & 4 hu 1( /\/: ~|
(Use a comma to separate answers as needed. Use integers or fractions for any numbers in S )
th ion. 4
e expression.) .
____...-"

() B. There is no oblique asymptote.
- . 1
Answers A. The vertical asymptote(s) is/are x = 3
(Use a comma to separate answers as needed. Use integers or fractions for any numbers in the expression.)

3
A. The horizontal asymptote(s) is/are y = 5

(Use a comma to separate answers as needed. Use integers or fractions for any numbers in the expression.)

B. There is no oblique asymptote,

L 3£ g A/ U N (.

ID:3.451 y—5 e S¥+ | / ' _
: ;-'7)(, 7_06_ - L)L’/_IJL/(_ 37 ryg [ ;J
// " 2Ae L ,f,-_ < Cronce }ﬂ\)m//> are \
)(-_)00 iﬁf ‘ ) X Cu Ay {( ) W -;'\
/ e _fY_v _—_(’ _7 _ /QJHJ . j‘
N~ pe? X, J - b -
X £ —
: 2
/Iw\ .__3_1__*__ - J— ;

)(-—.70@ S = | )(
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19. For f(x) = 6x+7 and g(x) = 9x, find the following composite functlons and state the domaln of each.

(@) fog  (b) gof (© fof @ 808 (/0 92X © L ;ml)
(@) Fog)(x) = (Simplify your answer.) = ;" ( G ) / [ . N\
— o [ QIman )
= cfSx)+ 7., /
Select the correct choice below and fill in any answer boxes within your choice,. — - _ { /{ o, } /
(= S¥y+723\ 2" %
A. The domain of fo giis {x | }. — B st

(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

B. The domain of f o g is all real numbers. (ﬁd{ ] ()4 t/ ( :,'-;. o ) } ( Lli Ve - /
/ . "

_ i i . } o, ) , \ "_ . _.._'; _)r
(b) (g o f(x) = (Simplify your answer.) - l;) ( GX-¢7 ) {Of ' :/
Select the correct choice below and fill in any answer boxes within your choice. ﬁ ( 6 X+77) p,
" I
A. Thedomainofgefis{x| 3. (H‘ S ¥ 65 ,_.3'L—

(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

B. The domain of g o fis all real numbers. o [ f ]
.- (o (i = £1 4.
(©) (FoH(x) = | (Simplify your answer.) ' ‘_:"{ 6 A+71)
Select the correct choice below and fill in any answer boxes within your choice. ( 7 l/ 6 X-¢ 1]t
= 30+ “LlA
A. The domain of fofis {x l_,,, - } ~C32C —Cl_ ~
(Type an inequality. Use integers or fractions for any numbers in the express:on ﬁse & Lf_ "

comma to separate answers as needed.)

B. The domain of f o fis all real numbers. ( j 0 D}/\ ({_::.{,- IJ

(d) (gog)(x) = (Simplify your answer.) ' r,) 'if 5 ¢ J)

Select the correct choice below and fill in any answer boxes within your cho;ce_ <) ( (.? v, ) : . ) =
A. The domainofgogis {x | } 7 { 1 ) - C ﬁ T

(Type an inequality. Use integers or fractions for any numbers in the expressnon Use a / /
comma to separate answers as needed.) . T ;
/ / | )( T —02 M )

B. The domain of g o g is all real numbers.

Answers 54x + 7 N s s
B. The domain of f o g is all real numbers.
54x +63
B. The domain of g o fis all real numbers.
36x + 49
B. The domain of f o f is all real numbers.
81x

B. The domain of g o g is all real numbers.

ID: 4.1.23
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20.

16 of 20

The function f(x) = 15x — 3 is one-to-one. Ay
(a) Find the inverse of f and check the answer. 20+
(b) Find the domain and the range of fand f e 16+
(c) Graph f, f~ ! , and y = x on the same coordinate axes. - ]

-1 &+
(a)f™ ' (x)= ]
(Simplify your answer. Use integers or fractions for any 4
numbers in the expression.) ' x

yyryypTaT l L ) l rrr l ™ ] Try [ l_l"l'l ™ '_r'l"l"r'l"!'l'_'["'>

_ , _ 20 16 12 8 -4 4 B 12 16 20
(b) Find the domain of f. Select the correct choice below 4]
and, if necessary, fill in the answer box to complete your 1
choice. s
124
‘. A The domain is {x|x 2 A }. ]
i - F 64
./ B. The domain is {x|x¢ 3. !
£ C. The domain is {x|xs ». 202
() D. The domain is the set of all real , o !

numbers. )(/ Y I 2

Find the range of f. Select the correct choice below and, if /{LL/I‘ \j Ve 5
necessary, fill in the answer box to complete your choice. :

(. A. The range is {y|y1‘iE - }
) B. Therange is {ylyZ }
C. Therangeis {ylys  }.

D. The range is the set of all real numbers.

Find the domain of f~ 1 Select the correct choice below
and, if necessary, fill in the answer box to complete your
choice.

(' A. The domain is {x|x5 }
B. The domain is {xlX?i‘E o }
)

C. The domain is {x|xz

() D. The domain is the set of all real
numbers.

f
-1 /"' 3 ) / 5 L
Find the range of f . Select the correct choice below and, 4 F
if necessary, fill in the answer box to complete your choice. -

(! A. Therange is {y|ys } ’ 1 . N e V\ ) !
() B. Therange is {y]y# } / ()// | / ) ;[[\.A ~ C’L‘/}‘
C. Therangeis {yly= }.

D. The range is the set of all real numbers. =

(c) Graph f, f~ 1 , and y =x on the same coordinate axes.

Use the graphing tool to graph the functions.

7/29/2019, 3:58 PM
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x+3
Answers 15

D. The domain is the set of all real numbers.
D. The range is the set of all real numbers.
D. The domain is the set of all real numbers. -

D. The range is the set of all real numbers. {/ . /
g - / P

ID: 4.2.53 ) " = — o
T - i ‘ (- =FT ? — _—r A __"_::;.) i f X‘ w4
21. Solve the equation. (Z e )\ e . “y
; / — — —
A ;—(— - —a

47X+2T _ 1oeX ={¥ “+<s¢ \ ' < | -
‘ - N\
The solution set is { '}‘Z /l X - . [‘NZ/L/

(Type an integer or a simplified fraction. Use a comma to separate answers as needed.)

—L gy _ -

Answer: 6 — 2y g o g/c'__f - ( { ~
ID:4373 ~ 2L —T I — s — T X = = =
— 1< =l S
22. Find the domain of the function. g ’ =3 j
h(x)= In (x - 3) 7 g

The domain of h is | )< ) i

(Type your answer in interval notatlon ) @
Answer: (3,00) e ———
._/‘:. E‘; g \-.‘\

ID: 4.4.39 , I
(%, <?0
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23. Solve the equation. e # //O‘/ s (C\ f )’/ s 2
i~ P
log,(2x+5)=3 ol S .

)y P ks Ktweale

Change the given logarithmic equation to exponential form. ,2_ . '

| 2.2, 2 = LA

(Type an equation. Do not simplify.) g Z Y.~
1T .

The solution set is { j3 7 - - ¢ Lty —8

(Simplify your answer. Use a comma to separate answers as needed.)
= L A

Answers oy 4 5 = 23 ) )
- a L
3 2> — - ——'
: .. ) A /
- S —— “
ID: 4.4.91-Setup & Solve Q '7( P
24. Write the expression as a sum and/or difference of logarithms. Express powers as factors. i
/ Lo i ?3-‘/[ S

I097{%]-X>2 , (/ T

x5
log 7[x- 2] = (Simplify your answer.) é(}} l//] } P ( v> //{) \
Answer: 5log ;x - log 7(x - 2)
e Loy, (A PN

ID: 4.5.49
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25. Solve the logarithmic equation. )( ({’_,L/ 37)
log x+ log (x—48)=2 /OU - - ,,u( 67)(

Determine the equation to be solved after removing the logarithm.

| 2 X == oY
|

(Type an equation. Do not simpilify.) 0 ()( T d @*5&’
2 0 ot X—¥%

Select the correct choice below ant{(f necessary, fill in the answer box to complete your choice.

X~+1—0 =L O,( )(""SU" 57) = Uy
) A The solution set is { ' )(j. - b, q = CA(Q‘-.’_
to

(Simplify your answer Type an-exact-answer. U(se acomma rate answers as ,'I
needed.) é 2~ C/i'y =& oy _ . ‘S'O_”Lf : ) - 2

1 B. Thereisno solution ZU/ [ Z) + D = ( 0) (SU) - (" ( s

/ (ez)-—/cfu)(f”'L Lo - Cu (2) = 2. |

: BAD oy ($v) 5, ,-

Answers x(x ~- 48) = 102 /3,")]) i (/_(U d( I~) é/( f

A. The solution set is { 50 }

(Simplify your answer. Type an exact answer. Use a comma to separate answers as neede d
[ /R k 1/) [
ID: 4.6.17-Setup & Solve ‘_X =
e - — - Ae( —— —
26. Find the amount that results from the given investment. ’4: /( /"f 5) Y3 /9 N ] vo
e P - — _ — ‘r: ﬁ’ ZG “--V
C.fs?o('J‘__Irwresten;l ét_z%fcumpounded;qqartgrlvﬁaftera periogif 315@‘3' A = / v ( { — r. .’_ é: 2 o f—;’f”f,’
After 3 years, the investment results in $| . A ~ ] e (/( b 73 &) /L iz 2vL =z 0l
(Round to the nearest cent as needed.) B - .
/jr 7(/0(/—!" OZ/L/)A(lL) wic L ™
Answer: 743.17 ¢ 3 ey Svrephn)
7?3‘ I 7 #V ? =" C(_ (C\. L 1_} ;-;/,

ID: 4.7.7 &A = 7 ‘7‘3 / /’).u NNy 7

27. How many years will it take for an initial investment ef $50, OOU fo grow tEL__i'S 000"h Assume a rate of mtarest@1 2%

~'compounded continuously. A_ el J_l_d,.-m:i“i@‘ Ae 75’0(;) LR
e
P 4 ()(/u W )

It will take about | years for the investment to grow to $75,0
(Round to two decimal places as needed.)
1298, < L1 (,’

7S’Oc)u: cogov &

Answer: 3.38 )
Ts0us . 5000 € é 7 7 77
ID: 4.7.41 gy SR | P

il IR L

Hls)= e’
Ll ,/Zé/m/”)/ _ \///

Ly ()= 1 0) Sy
A(ls)= fE€ — L
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28. Solve the system of equatlons If the system has no solution, say that it is inconsmtent /A~ YL
4x -2y=10 [ ) prath YX—129 = /C L \_\\/“”

— /UX 2 R Xz 3

5x +y =16 % | = = ——JL—_'—'"'_»' = - 3

jex 4 6oLl N

Select the correct choice below and, if necessary, fill in any answer boxes within your choice.

() A. The solution of the system is x = andy= ; (/”( 3] —¢ “[ T/
(Type an integers or simplified fractions.) /?, I g < 72
(_) B. There are infinitely many solutions. Using ordered pairs, the solution can be written as _ /u [ L
_ (1209 4 =
{(x y)x= ~,yany real numbery.
(Simplify your answer. Type an expression using y as the variable as needed.) —L 7 - X2 — L
{1 €. The system is inconsistent.
-t
./‘——_ — Tl
Answer: A. The solution of the systemis x= 3 andy= 1 . —¢ . —___.17::
(Type an integers or simplified fractions.) " b i { |
ID: 6.1.33 )( V)) (3 ! )
e — —

29. Solve the given system of equations. If the system has no solution, say that it is.inconsistent. /
3 ‘f‘ './:l"l & ol
X=-3y+4z= 9 Z/’\/D )%4’!/’7( el 4 f c} )7/ y,

2x+ y+ z=-3 - 5 Y %
-2x+3y-32= -5 /\ g Z- [
.._—5 —

Select the correct choice below and fill in any answer boxes W|th|n your choice.

() A, The solution is x = VY= ,and z= . (Type
integers or simplified fractions.)

) B. There are infinitely many solutions. Using ordered triplets, they can be expressed as
{xyz2)|x= y= ,  any real number}.

(Simplify your answers. Type expressions usmg z as the variable as needed. )

) €. There are infinitely many solutions. Using ordered triplets, they can be expressed as
{xy.2) | x= 'y any real number, z any real number}.
(Simplify your answer. Type an expression using y and z as the variables as needed.)

() D. The system is inconsistent.

Answer: A.
The solution is x = -2 .. (Type integers or simplified
fractions.) - 3 ’)
2 AsD) rre A
ID: 6.1.45
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